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woa & (1) T F i & (M) THEBIARMEE (1)
WBIRRFSHH 91,208,700 82,917,000 (A) 8,291,700
AL Rt 100,476,200 91,342,000 (B) 9,134,200
B IES Dk 88,836,000 80,760,000 (C) 8,076,000
AL S Sk 97,862,600 (F) 88,966,000 (D) 8,896,600 (E)
M A 9,026,600 8,206,000 820,600
GHZD  (B) X (C) =+ (A)=(D) <KD IFTFHIED- BRI FOHET>
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(D) + (E) = (F)




& REDPERBER BB IE No. 1
RETEEAT RETERR e
34 L 3- & 1ﬁ;i =
® H W= g B B 24 g B B e | FUHEER WE
[ERZAR %
I #ETHE = 41,896,787 = 48,808,169 6,911,382 HE%H
| w5 THF = 3,662,690 = 3,662,690 0
IM| el T4 Y 17,484,339 Y 17,484,339 0
RN % 63,043,816 69,955,198 6,911,382 H4%E
SiSTE ey
[ HmEGes Y 2,261,250 Y 2,443,703 182,453 |H9%E
0| B5E e =X 7,691,732 = 8,117,382 425,650 HE%E
— R R 2y 9,920,264 X 10,826,431 906,167 HE%H
B TE 19,873,246 21,387,516 1,514,270 H4%A
&t 82,917,062 91,342,714 8,425,652 H4%E
TS SREEST 11U e 82,917,000 91,342,000 8,425,000 H4%E
THE RS %A 8,291,700 9,134,200 842,500 H4%H
wast (LFEE) 91,208,700 100,476,200 9,267,500 H4%E
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RETEEAT RETEFR a3
® H L Y AT Yy g BE BE o | EUEEE WE
I |BETSE
Al |BEHEESE T = 2V 23,888,416 oy 30,799,798 6,911,382 |Ha%H
A2 |BEBUR ML E LF = 18,008,371 = 18,008,371 0
Gt 41,896,787 48,808,169 6,911,382 H&%H




& W REPFRYERNENEM TS No. 3

H BB | oy wg o owE sm | mE wm o owm | e | EOMAE W3
Al BERNEHRIETISE
1 (B R LF 1 3L 6,896,402 1 K 6,896,402 0
2 [PikdETE 1 KX 1,425,689 1 K 1,425,689 0
3 |EEEYETH 1 3L 4,951,452 1 K 4,951,452 0
4 |FhEESE T 1 KX 8,875,306 1 K 15,786,688 6,911,382 Ha4%E
5 |NEZET=H 1 K 28,420 1 3L 28,420 0
6 |BEETE 1 KX 1,383,588 1 K 1,383,588 0
(L EY U 1 K 327,559 1 3L 327,559 0
23,888,416 30,799,798 6,911,382 H4%E
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RETEEAT RETERR et
® H "= g B B s g B B o | EUEEE WE
A2 |BERE M LBETE
1 |EERGETE 1 K 610,890 1 =X 610,890 0
2 |[BEdELE 1 = 1,589,580 1 = 1,589,580 0
3 |NEE T 1 =X 7,086,506 1 XK 7,086,506 0
4 |[BEXETE 1 = 134,605 1 = 134,605 0
5 |2zyb K OFOM T 1 K 6,411,550 1] =X 6,411,550 0
6 |-y 1 = 2,175,240 1 = 2,175,240 0
&t 18,008,371 18,008,371 0




